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Task 1

You are shopping for fruit.  The sign says 3 pounds of apples for $1.50. Using that information, complete the table and graph below. 

Cost of Apples
	Pounds
	0
	3
	6
	
	
	
	
	

	Cost
	0
	$1.50
	
	
	
	
	
	


Graph the points from the table above.
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Task 2

You are shopping for fruit.  The sign says buy 3 pounds of apples and get a pound free.  3 pounds of apples cost $2.  Using that information, complete the table and graph below.
Cost of Apples
	Pounds
	0
	3
	4
	7
	8
	
	
	
	
	

	Cost
	0
	$2
	$2
	$4
	
	
	
	
	
	


Graph the points from the table above.
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Analysis Questions

1.  What is similar about the two tasks?

In both tasks, __________________.
2.  What is different about the two tasks?

In task 1, __________________, but in task 2 _____________________.
3.  What is similar about the tables?

_________________ is the same in both tables.
4.  What is different about the tables?

___________________ is different in the tables.
5.  What is the same about the graphs?

Both graphs ___________________.
6.  What is different about the graphs?

The graph of task 2 is different because ______________________.



















































Intervention Units: Proportions  1.3
2

